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b
Solve the equation: Determine the value of the variable. Combine like terms and
perform equivalent transformations.

a) 156 —1=2f—3

rearrange and combine like terms

155=2f — 3 | —155
0=2f — 158 | —2f
of=-158  |:-2
=79
b) 7q+3=5+ 320 rearrange and combine like terms
Tq+3=32 | -3
7q =322 127
q=46
C) 530 — 4h=4h + 2h rearrange and combine like terms
—4h + 530 =06h | —530
—4h=6h — 530 | —6h
—10h=-530 | :-10
h=53

2)

Solve the equation: Determine the value of the variable. Combine like terms and
perform equivalent transformations.

a) 319 4+ 3v = 12v — 5 Losung: v = 36 b) 8 — 25 = 252 — 3s Losung: s = 28
¢) 3f +6 =4+ 44 Losung: f =14 d) —4r +44 = —3 4 3 Losung: r = 11
e) —4z + 2 = —364 4 2 Losung: z = 91

f) —e + 3e = 8e — 342 Losung: e = 57

g) —6k — 6 = —4 — 410 Losung: k = 68 h) 3¢ — 3 = 142 — 4 Losung: ¢ = 47
i) 9n — 2 = —14 692 Losung: n = 77

3)

Solve the equation: Determine the value of the variable. Combine like terms and
perform equivalent transformations.

a) —3+1=-482+ 10u
—2=10u — 482 | +2

rearrange and combine like terms

0=10u — 4K0 | —10u
—10u = —480 | - -10
u=48
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b) —3b+5=—-230+1

rearrange and combine like terms

—3b45=—229 | =5
—3b=—234 |+ -3
b="78
C) ’L + 5Z = —243 —|— 97, rearrange and combine like terms
6i=9i — 243 | —9i
—3i=—-243 | : -3
1=281
d) —57" — 3 =—1-— 202 rearrange and combine like terms
—5r — 3=-203 | +3
—5r=—200 |5
r =40
e) —8d + 2 == —4 _ 602 rearrange and combine like terms
—8d + 2=—606 | —2
—8d=—608 -8
d="76
f) —68 — 28 = —161 + 1 rearrange and combine like terms
—85=—160 -8
s=20
g) —3y +203=—-7+3 rearrange and combine like terms
-3y +203=—4 | —203
—3y=-207 |:-3
y =069
h) —2p — 4p =2 — 496 rearrange and combine like terms
—6p=—498 | -6
p=383
D) —8F +2=4 — 466 | rearrange and combine tike terms
—8f +2=—462 | -2
—8f=—464  |:-8
=58

4

Solve the equation: Determine the value of the variable. Combine like terms and
perform equivalent transformations.

a) —2r —3=-—12r+307 |43
—2r=-12r + 310 | +12r

10r =310 | 10
r=31
b) 99 — 298 =-3 + 2 rearrange and combine like terms
9g — 298 =—-1 | +298
9g =297 119
g=33

www.dw-math.com Page 2 smp-9505-1/QRCN

Quick:
9505



Solutions to smp-9505-1/QRCN

c) Tw+w=300+4

rearrange and combine like terms

8w = 304 .8
w=238
d) 212 — 4]) =—1-— P rearrange and combine like terms
—Ap+212=—p—1 | —212
—4p=—p—213 | +1p
—3p=-213 | :-3
p="T1
e) 234 — 4= 9n — 4n rearrange and combine like terms
230 =5n | —230
0=5n—230 |—5n
—5n=—230 |25
n=46
f) 271 —+ 271 = —1 + 361 rearrange and combine like terms
4n = 360 |4
n=90
g) 10n +4=4 4 920 rearrange and combine like terms
10n + 4 =924 | —4
10n =920 |: 10
n=92

rearrange and combine like terms

h) bc+ 2c=2c+ 270
Tc=2c+270 | —2c

Be =270 155

c=54
1) _5C + 147 — 1 + 1 rearrange and combine like terms

5+ 147 =2 | —147
5e=—145 |:-5
c=29

Good Luck!
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